§

49. Which expression is equivalent to x®x22=

A x¥x3 C. x7x3
@ x5x3z )(8 D. x°x3

Note: We add exponents when we multiply with like bases.

50. Which number does not have a reciprocal?

A -1 C. —
1000

@0 D .3

Bt‘.’causa we con’f divide 5)/ 2€Yy.

U;f; J'us'f Say Wt wrole z\',vm3
as - FI{P it and yomgeJC D

unc{ewci r\(i/]

0
3



51. Whatis the multiplicative inverse of %2?

| =

A -2 C.

@
2

ra

|
/
1
2
Note: If the productis 1 when you multiply the two values

together, then they are multiplicative inverses
(as well as reciprocals).

52. Whatis the solution for this equation?

|2x — 3| =5
A x=—4orx=4
B Y ——Aars=—2
C.)x=—-1lorx=4

Iy =1 .o y—3

The value inside the absolute value bars must be 5, so:

Y= 2,:-5
£Z><Jr g ar R

ne: :
or



53. Whatis the solutign set of the inequality

T oD Suiteh
A —2=xx=6
B x=-2o0orx=6 /X']’L{,Z%

C. -12<x<4

@x <-12orx =>4 X'H'/Zg ug X‘]"/é‘g
- Ixay| &5

54. Which equationis equivalent to
S5x —2(7x+ 1) = 14x?

@—9x—2=14x
B. —9x+1=14x
C. 9x+2=14x
D 12x—1=14x



55. WWonis equ@o

4(2-5x) =6—3(1—3x)?

A s=5  §-0g=6->1%
B. 8x=17 $20x +20x
C 29x=5
D. 29x =17

56. The total cost (¢) in dollars of renting a
sailboat forn days is given by the equation

¢ =120+ 60n

If the total cost was($360) for how many
days was the sailboat rented?

A 2 C. 6

B et



57. Solve: 3(x +5)=2x+35

Stepl:_}{+ 15 =’§£+ 35
Step2: $x +15 =35
Step 3: 5x = 20

Step4: x =4

Which is the firstincorrect step in the solution
shown above?

A. Stepl C. Step3

Step 2 D. Step 4

58. A 120-foot-long rope is cut into 3 pieces. The
first piece ofrope is twice as long as the second
piece ofrope@'he third piece ofropeis three
times as long as the second piece of rope. What
is the length of the longest piece ofrope?

A. 20 feet @60 feet
B. 40 feet D. 80 feet 2 60"&

Dxtx+3x=120
= IH)
.



59. The costto rent a construction crane is $750 per
day plus $250 per hour for use. Whatis the
maximum number of hours the crane can be

used each dayif the rental costis notto exceed

$2500 per day? 90'-) 5-H\E.
A 25 @ Ufiﬁrﬂlﬂ/
B. 3.7 D. 13.0

60. Whatis the solution to the inequality
x—5>14?

2 15
X§,q>9 @x>19

B. x<9 D x<19



61. The lengths of the sides of a triangle are y,
y+1,and 7 centimeters. If the perimeteris 56
centimeters, what is the value of ?

A) 24 C. 31

B. 25 D. 25

er o419+ +7

54, 9«3/;/

62. Which number serves as a counterexample to
this statement below?

All positive integers are divisible by 2 or 3.

A. 100 C. 30

' @ 25



63. What is the conclusion of the statement in the
box below?

Ifx?=4,thenx=—2 or x = 2.

=2

il
B. x=2 @x=—20rx=2

64. Which of the followingis a valid conclusionto
the statement “If a studentis a high school band
member, then the student is a good musician™?

A. All good musicians are high school
band members.

B. A studentisa high school band member.

C. All studentsare good musicians.

All high school band members are good

musicians.



